
WA-0012A/A B5-WA0012A-00

*Strong loading up to 50 kgs
LCD TV, Plasma.

Unit : mm

U n i v e r s a l  L C D T V P D P W a l l M o u n t s
1
5°

5°

715

137



I.

III.

Wall side

Bracket side

12(0.5)

1
4
4
(
5
.
7
)

203(8)

101(4)101(4)

152(6)

203(8)

7
2
(
2
.
5
8
)

W O O D E N  W A L L

X7

7
2

7
2

C O N C R E T E  W A L L

X7

6~10mm
7

2
7

2

7

8

Decide which case show as
below according to item II

Case B OR D

Case A OR C

H
o

w
 to

 p
ro

h
ib

it s
lid

in
g

5

Set outside

Set inside

6

3

1



II. TV side

1 2 3

M6X15

1 2 2

MAIN PARTS

ITEM

PARTS

QTY

4 5 6

2 4 4

7 8

7 7

PARTS FOR WALL BRACKETS

ITEM

PARTS

QTY

9 10 11

M6X15

4 4 4

PARTS FOR TV BRACKETS

ITEM

PARTS

QTY

12 13 14

4 8 8
11Xd4 24Xd8

15

1

Choose one case before installing TV side

Case A. Case B.

Case D.Case C.

H
o

w
 to

 p
ro

h
ib

it s
lid

in
g

2

4

5

9 11 M4X12

M6X15

SELECT

+

+

10 12

336~388

Set

30~238mm

Set

388~420

Set

238~270

Set

M4X12 M6 M6M8



Adjustable method

Selection of
Adjustable Angle

Control tension of
articulating arm.

Adjustable Levle

Unplug all  the cables off the TV.

Recommend the other persons to hold the TV.

Please evaluate the desk material whether is suitable for installation.

Please choose the thickness of solid wall over 50mm.

Beware of the specification as first page.

15

15


